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General Instructions:
1.There are 5 questions in total,
TS WA :
2.All questions are compulsory.
R Wi wer yffaRt ¥
Ja

' &5

iz

3.The marks of each questions are wiitten against tham,
T R W e I Wi v e )

Q1.\Write an essay on any of the following: Frafd @ ¥ O sl was v fidy @@
20 Marks

A) My dream in life Siaw & W0 QU1

B) Save green Save blue Save earth & ¥ et sl urell was)
C) Women empowerment wiwsT werfagasor

D) Indian railways WR&RT ¥&

E) Unity in diversity Wt ¥ wesal

Q2 Answer the following in one word, fmifRifde 9 3 wes o WA 19marks

a)When is the world environment day celebrated? g vulamor fRe w59 W7 s
22
b) Recently India made a historic victory in “ Thomas Cup", With‘ which game thig
CUP is associated? et & W WRe ¥ "oy w5y N U @as shia ool i) o [y
T e B9 |

c)Who is the author of the book 22 MY EXPERIMENTS WITH TRUTH. My
EXPERIMENTS WITH TRUTH . Y[R 5 D& Bl 39

d)The Film and Television Institute of India (FTI) Is situated in which cit‘y pf‘ .
Maharashtra? WReta fose 3l et R et (211 v A R age Y {8080
e)What is the capital of UKRAINE? Y5t @ wistard) g 39




fiChhatrapati Shivaji Terminus is a historic railway terminus and UNESCO World
Heritage Site is in which city of Maharashtra? sqfy farreht <ff e e od

<fifeRT 2 3R ZRY foed RIER vl WERTE & v oree # 9

Q3. Multiple choice question, choose the correct answer From the following

Sgfaedt wed, fmfafad ¥ ¥ &€t 3T T 18 marks

a)Who present the ‘union budget of India’ in the parliament. o
A) RBI GOVERNOR B) prime minister C) president of India D) finance minister

IS H RA &7 Beid goic’ BT U2l YT 2|
A. AREIATE TR B) WU A3l C) YR & Iregufa D) fo w3t 3

b) Which of the following Jyotirling NOT located in Maharashtra fA=fafEd o & &1
T SIAfET gerTeg # &g 78 @ ’

A) Grishneshwar Jyotirlinga Temple gwteaR Safafe #fex

B) Bhimashankar Temple fid12{es3 Traed

C) Trimbakeshwar Ziddb2aR

D) Omkareshwar jyotirling 3N@Rear sqifaferT

c) Paithani Saree belongs to which state? Yot HTE} fost 77 Y 272

[A] Maharashtra
[B] Karnataka

[C] Tamil Nadu
(D]

Kerala 8

d)Arrange the following Hill ranges as per their north to south location: F=fafag
Tdd STIATHT BT ITeb IR H Sfe{0T T F IR AT o

1. Deccan plateau <dhd &l YRR

2. Vindhya range fdeg 3

3. Western Ghat gfeaHt a1

4. Himalayan range f&ATera gdanrer

Choose the correct option from the codes given below:
[A]1,2,3,4
[B]4,3,1,2
[C]14,1,2,3
[D]4, 2,3, 1

e)Yerwada Central Jail the largest prison in South Asia, is located in? &fejor forgT
B I FEt SieT IRAaT Ao oIt el RAd 82
A)Mumbai B) Pune C)Nasik D) Nagpur




@

f)Which of the following statemexjt is  NOT correct about Bal Gangadhar tilak?
TR fveres & aR N AT W I A1 wer ae) 73 22

A)He was conferred with the title of "Lokmanya", 3= "efiesAT" Y 3uTfd O g™
fesa e e
B)He is known for his quote in Marathi: "Swaraj is my birthright and | shall have

iwaﬁm@ﬁxmmwwﬁﬁmemmﬁwmmmﬁm@aMﬁm%ﬁhﬁﬁT
GEREGUIY

C)He co -founded the ‘the Deccan education society’ 3@ 17 & TFPRA TSl bl
TE-TRATIAT Bl

D) He coined the term ‘Satyagraha? 31+ \edTdg' e TeT?
g)Which metal is used in thermometer to measure body temperature? emffier ®

ORIR 3 AT T WO W Tq Teby BiTq BT ST febdT STTaT &7
‘A)Mercury B)Sodium C)lron D)None of the above
h) Which of the following river does NOT rise from state Maharashtra? AAfafad #
J BT ) 7 HERTG I W T (Heperell 87
A) Bhima
B) Godavari

C) krishna
D) Cauvery

i) Which of the following parts in India receives the first monsoon in summer? YRd

¥ FrerfafE § Q P |1 T it ¥ g AR e AT €2

A) Himalayas fgATerd
B) Western ghats TfeH €Te

% C) Eastern ghats JdT €T€

)
D) Meghalaya's plateaus HETeTd BT TSR

Q4.Write the full form of the following ? fmfafEa @1 quf ©u fdfEg 20 marks
NHAI. |

BRO

CBI

NCERT

PMC

UNO

WTO

OoTP

QR code

PAYTM

L

eooyg

S (0 Y
N— S
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Q5. Write a letter to the bank manager requesting to transfer your account along
with the activating of internet banking. §e¥3¢ dfds @Y wffsar e o TTeI-HTY 3TAT
WA AR B BT AT 0 Y e YU Y uep ur feral 1 16 marks

Q6.Solve the following. 15 marks ; .
A~ The sum of 10 numbers is 550. Find thelr average number. 10 I3t &7 31T
550 &1 37T 3l e Fim BT
B. Afruit seller had some apples. He sells 40% apples and still has 420 apples.
What is the total number of apples he had originally? Tes e feshdl & U1 $&
T &1 T 40% g IuAT # 317 30 Uy anst o 420 B9 3 U A B 3 Fe
fasem I &7 8

| C. A man travels from his home to office at 4km/hr and reaches his office 20 min
late. If the Speed had been 6 km/hr he would have reached 10 min early. Find

the distance from his home to office. V& @fdt 317 B% I wTafera qe 4 fHl/eeT
ﬁwﬁﬁwm%ﬁhmmzoﬁmaﬁﬁq@mél afe e 6 forl/der
aﬁmaamfﬁﬂzmqgamlmﬁsmﬁmzﬁaﬂmﬁﬁm
D. Arrange the following ratios in descending order. fi=fafaq HIUTAT Bl 3RS A
5 i Y|
2:3,3:4,5:6,1:5

E. Convert 0.6 into fraction. 0.6 &7 iy & geoi:



